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3D Model




Particle

E, MeV mc, mev rigidity, T*m angle 45, rad field integral 45 degree  beamline length, m  dipole length, m dipole field, T
. proton 10 938.27 0.03335641 0.785398163 0.026198063 4 horiz + 2.5 vertical £0.5 0.6 0.043663438
racking
particle 38 3727.38 0.063377178 0.785398163 0.049776319 4 horiz + 2.5 vertical £0.5 0.6 0.082960532
. 0.016 1 — sigma_x
Initially normally .
distributed with sigma_x/y £
Iy e 0010
=->mm :'?': 0.008 i
and relative px/py = 2.2e-3  Zows|
" 0.004 |
0.002
0 1 2 3 4 5 6 7
s[m]
Phase space x/px at 0 location: 0.0 m Phase space y/py at 0 location: 0.0 Phase space x/px at 9 location: 6.7 m Phase space y/py at 9 location: 6.7
Nparticles: 10000 Nparticles: 10000 Nparticles: 10000 Nparticles: 10000
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